
The African portion of the Intertropical Convergence Zone was located near 15.7 degrees north during the previous dekad when 
averaged from 15W-35E.  This compares with the long term mean of around 16.9N and last year’s position during the same period of 
15.2N.  Thus the current position is around 1.2 degrees south of normal.  In the west (from 10W-10E) the current ITCZ was located near 
16.7N compared to a long term mean position of 17.8N.  From 20-35E, the ITCZ is now located around 15.1N while the normal 1988-
2004 location is closer to 15.6N. 
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